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A & 0l & AF 2 E A A
2016 & =0l & LEHS|IH M EotM HIH
SM: MEOIEME
A Al MEONY DS
&l 3658 RBUEH 29 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A 2oL M M E 6,360,181 6,638,516 A 278,335
Xl 286,000
< 501,600
Al 5,572,581
AQL SO = 6,057,182 6,431,205 A 374,023
Xl 286,000
< 501,600
Al 5,269,582
EERURABHEH 29 886,659 500,000 386,659
3EERURABHE 2= 25,239 500,000 ANAT4, 761
401 AIEHI L 20 25,239 500,000 ANAT4, 761
01 A& HI 25,239 500,000 ANAT74,761
O35 E SHH &= & A& A
642,200,000& * 3.93% 25,239
352 RABHEH 2 861,420 0 861,420
201 L2l 35,320 0 35,320
01 At 22l 16,600 0 16,600
O35 ZSHE ESE2 HME 10,600
Ot 2 2 5,000,000& 5,000
O8==2H= 70,000& * 804 & 5,600
O3S ZSHH 2F ZH|
20,000 * 25 = 12& 6,000
02 =24l 18,720 0 18,720
O35 Z2HEH SRS 18,720
OdE3d AEE
132,000& » 53/ & « 12& 7,920
OSMS/FAX AtE & 200,000 * 123 2,400
OAEUHESIMHIA 100,000& * 12& 1,200
Odste3za 500,000& » 12& 6,000
OHESAMER 100,000& » 12& 1,200
203 YR =&l 1,000 0 1,000
03 AIHF=XH R =AH| 1,000 0 1,000
OMEotd HRF2A 1,000,000& 1,000
307 glz2tol & 825,100 0 825,100
05 Rzt E = 825,100 0 825,100
O35 ZSHEH S2IEY 49| 825,100
OB3652IASHEH &A4Ed 9]
2,720,000& » 25%H » 12&8 816,000
O&ER2 2 otsg =%
9,100& = BAlZt = 259 + 5 9,100
CCTV JIBHol AtslotM et &Y 5,139,950 5,854,324 AT14,374
Xl 286,000
< 501,600




SM: MEOIEME
A Al MEONY DS
Ch2l: CCTV JIBHe| AbS|otM I E (Y EEREEED)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 4,352,350
CCTVEEZEIANAE ECZ 'Hlls otdE Hel! 2,963,537 2,568, 165 395,372
st 2l
201 et 1,934,297 1,689,597 244,700
01 At 22l 3,840 1,840 2,000
OsSg2M4dH 29 &l
10,000 » 32Y = 128 3,840
02 2324l 1,930,457 1,687,757 242,700
oYy E CCTV 29 1,120,392
OHE3d AEZ
100,000& = 769004 =123 922,800
OdE3d AHEZ (2016 AXIZ)
100,000& = 10004 « 63 60,000
odIIe2 14,000 » 76900 A& » 12& 129,192
OXII= (2016 &XI2)
14,000& » 100014 » 63 8,400
OsSg2MdH 2¢ &l 536,785
ONEO0ESTH CCTVR2IEAIAE KXY
22,054,240% 128 264,651
OZANZ2 =0l CCTV2Z AIAE S Xl
10,290,860& * 12& 123,491
OXEUHE CCTVRIAAE S
6,438,750 « 12& 77,265
OoMagdg CCTVRIAAE KX
3,186,310& » 1228 38,236
O=sEYLHEHE CCTVRIANAE S
2,761,800& ~ 123 33,142
OsSg2H4dH 29 Al 273,280
OSE2MEH &II23
8,000,000& * 1A 123 96,000
OSE2MHAE MHHLS (L) TVedls
7,100& « 62 + 128 512
OSSN 2SAAE FXHl
14,730,660& * 128 176,768
307 glz2tol & 576,000 480,000 96,000
05 RIZt2E = 576,000 480,000 96,000
OCCTV SS2HUE 2ULIHSY 2|
2,400,000& » 20 » 12& 576,000
401 A& HIZ 201 Y] 453,240 398,568 54,672
01 A& HI 450,000 395,103 54,897
OMEHHMI L0l AIARE F=(H/W, S/W)
450,000,000& * 14 450,000
03 A& S THHI 3,240 3,465 AN 225
OMEMIIZO0l AIAE = AIE20HI
450,000,000& * 0.72% 3,240
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SH9l: COTV Dlhol AtE|OHM Y &ty (el @2)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sl CCTV SSHHAH += 345,600 520,000 A 174,400
< 345,600
307 gl2tol & 345,600 288,000 57,600
< 345,600
05 BIZHRI & 3 345,600 288,000 57,600
OxSsw A CCTVEH2NMAH SUHRA
Z 9l 2,400,000& » 12 » 128 345,600
< 345,600
Ogloletd g aEEolTet RHF(2H EX) 572,000 690,000 A 118,000
Xl 286,000
Al 286,000
401 AIEHI L 20 572,000 690,000 A 118,000
Xl 286,000
Al 286,000
1T AIZHI 570,000 685,652 A 115,652
OO 0IEE A CTVRS
20,700,000& * 1JH 4 20,700
Xl 10,350
Al 10,350
OZEANZ&,=0H CCTVRH
20,700,000& * 250 A& 517,500
X 258,750
Al 258,750
O & Al E AHI 31,800,000& 31,800
Xl 15,900
Al 15,900
03 A& =TI 2,000 4,348 A2,348
OAIZ 2 HHI 2,000,000 2,000
X 1,000
Al 1,000
SN CCTV ASIQEY RE(ZHIZX) 520,000 520,000 0
= 156,000
Al 364,000
401 AIEHI L 201 520,000 520,000 0
= 156,000
Al 364,000
01 A& HI 516,740 516,724 16
Os=EYEFHAXA CCTVE XIALY
12,165,000& * 4000 & 486,600
< 145,980
Al 340,620
Os=EYHEFHAXY CCTVE X & Al A HI
30,140,000 30,140
< 9,042
Al 21,008
03 Al 2 THHI 3,260 3,276 AN 16
OAIE =TI 3,260,000& 3,260
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SA: MEOIEME
M AlD MEBOXY 7E
SH9I: COTV JlBrel AtSleta e st (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 978
Al 2,282
T sXSE CCTV AL MG 2= 738,813 437,429 301,384
401 Al Bl 2 0HHI 738,813 437,429 301,384
01 A& HI 734,459 433,492 300,967
OYZF2*XA CCTV &l 497,066
OY X FHAX S CCTV & X
22,000,000& * 21J0 2~ 462,000
OY X FHAX S CCTV &X & Al & H I
462,000,000& * 7.59% 35,066
OMEgHE CCTVA X 73,623
OMEtetHZ CCTVA X
22,000,000& * 3JH 4 66,000
OMegtei s CCTVA Xl A AIE A I
66,000,000& * 11.55% 7,623
OFU=JAAY CCTVAE X 163,770
Osd=s CCTVA X 25,000,000& * 1JH 4 25,000
Ogs CCTva Xl 25,000,000& * 1JH 4 25,000
OAME S CCTVA X 25,000,000& * 204 A 50,000
OF=&= CCTVA X 25,000,000& * 1JH 4 25,000
OA& s CCTVA X 25,000,000& * 1JH A 25,000
OFU=SAAAMNY CCTVE X AAEAHSAEH
150,000,000& * 9.18% 13,770
03 Al 201 Y] 4,354 3,937 417
OAl& 20| 691,000,000& * 0.63% 4,354
Ils=& 29 30,573 76,881 N 46,308
Jls&get 01 Kl 30,573 28,571 2,002
201 LEr2 Y| 15,673 5,371 10,302
01 At 22l Yl 2,783 2,783 0
OJls=ze DaAMHe 223 2,783
o 8 37 24,000 * 10 = 3 720
OdSELOIH 15,000& = 14 15
O# A 17,000 * 1504 255
Octor2 5,500& = 354 193
oY S A2F 20,000 * 8F = 104 1,600
02 332494l 12,890 2,588 10,302
OJIHER 15 &4l A= H| 1,513& * 4004 606
OJIHZEBI KX H (6F) 300,000& * 6= 1,800
OMEUAX 2 Xtk 10,484
O Xt = XA 53,000& = 204 106
OXNsHEE = 750,000& * 2CH 1,500
OXNsSHSENEREE=2
87,000& = 200 * 13 174
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ST ME O MIE
M AlD MEBOXY 7E
lsaa 29 7lEE)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o e 2
OHZE M 53,000& = 2CH = 13 106
OXtg o el 4,299,000& = 20H 8,598
206 M= Hl 14,400 13,200 1,200
01 =8l 14,400 13,200 1,200
OB+=ESXM(ZUOLAZ) 12,0008 * 1,200% 14,400
405 RHoHE S HI 500 0 500
01 AL EZFH S 500 0 500
OCI X EIt0l 2t 500,000& = 1CH 500
2 I (MM MEH) 302,999 207,311 95,688
23l 252,423 165,919 86,504
24l 252,423 165,919 86,504
101 @14 dl 252,423 165,919 86,504
01 2= 63,831 0 63,831
OZV2R4(LBH)
9,332& * 19% = 30AI2t = 128 63,831
03 RIAHAZZ2E = 188,592 165,919 22,673
oS (0t=) 98,051
O 144Xt 26,330, 130& » 1H 26,331
O 128 Xt 25,008,030& = 14H 25,009
O 104 Xt 23,685,930& » 1H 23,686
O9¢¥ i 23,024,880 « 1 23,025
o= 38,261
O&E=g 3,360
—bH < Xt 40,0003 * 4% « 123 1,920
-&Edl % 20,000& = 6% = 12& 1,440
Oet&E =g 100,000& = 1H = 123 1,200
o2z+y 9.807
-1449 Xt
26,330,130 = 10% / 12 = 1 * 128 2,634
-129 Xt
25,008,030 = 10% / 12 = 1Y * 128 2,501
-10¥9 Xt
23,685,930 * 10% / 12 = 1¥ * 128 2,369
-9E Xt
23,024,880 = 10% / 12 = 1 * 128 2,303
ogn2RAY
9,100 * 20AI2t = 4H » 123 8,736
OFguA224Y
9,100 * 8AIZH » 18 » 117 8,518
OAx=< 83,0003 * 4% » 20 6,640
OgE S Ittl 9,807
O1449 L
26,330,130& / 128 = 60% » 1F * 23 2,634
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MEorE M Ef
BHS YL (MBOHHIH)
el 2l fEH)
i =
SA-EB - BAEH) - NRAY - BHES e 2t
O1249 Xt
25,008,030 / 128 * 60% » 1F * 23 2,501
O104 Xt
23,685,930 / 128 * 60% * 1H * 23 2,369
O9& Xt
23,024,880 / 128 * 60% » 1H 23 2,303
Oun sl 130,000& » 49Y « 128 6,240
O= &l 130,000& * 49 = 128 6,240
O IJHA X & Hl 175,000& » 4% » 128 8,400
oul=l 1,152
oxg= 90,0003 * 44 360
(OF=g==EY)l 10,0008 » 44 40
Ootd 3t 60,0003 * 4% 240
O&st 13,000& * 43 52
ogst=s 100,000& * 49 400
(OF 3= 15,0008 * 44 60
O3RA FLZ2RA =l 819
OMEoIxel 7,000& * 1€ = 117 819
OR &I XZHl 500,000& » 4% 2,000
O=3HLEEE BE3
165,400,000& * 3.035% 5,020
oOFIIQLEEE FE3 5,020,000& * 6.55% 329
O=0d=z R2E= 165,400,000& = 4.5% 7,443
CLNE=2Ez= RE3 165,400,000& = 1.5% 2,481
Ot 2L4EEE RES
165,400,000& * 1.42% 2,349
22 50,576 41,392 9,184
JlE&l 50,576 41,392 9,184
201 ¢er24l 19,076 16,912 2,164
01 AF2 22l bl 19,076 16,912 2,164
OJlegdE sy (JIEZHl) 9,500,000& 9,500
O34 (JI=3Hl) 9,576,000& 9,576
202 O4Hl 22,440 20,280 2,160
01 = LH 4 4 18,360 16,200 2,160
OJI&Z 18,360,000& 18,360
02 M0 4,080 4,080 0
OJls=Z8 FAHNH
170,000& » 298 = 128 4,080
203 R =&l 4,960 4,200 760
02 §J Ity =2 760 0 760
O©J| & (100 Mt X1 ) 40,000& = 19¥ 760
04 FEANSEH =L 4,200 4,200 0




SA MEOHN U
Bu: MmN (MBOHME)
el Jl23dl 9 )
. - 4 1
SA - I B(EA) - NTAY - BaS 0 e 2
© 7| (30 4,200
405 XtabF SHI 4,100 4,100
01 Xt =23FS 4,100 4,100
600,000& = 1CH 600
©A3 el 3,500,000& « 1CH 3,500




